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Model
DarwinPlateau
Gauss (User)

2

Equation

if ( ((x-xl)/wl) < -1 ) 
{
 y = A * (1 - (1 - 1/(((x-xl)/wl)^2) )^(0,5) ) + y0 + A
_g*exp(-0.5*((x-xc_g)/w_g)^2);
}
 else
 {
 if (((x-xl-w)/wr) > 1) 
 {
  y = A* (1 - (1 - 1/(((x-xl-w)/wr)^2) )^(0,5)) + y0 + 
A_g*exp(-0.5*((x-xc_g)/w_g)^2);
 }
  else 
  { 
  y = A + y0 + A_g*exp(-0.5*((x-xc_g)/w_g)^2);
  }
 }

3 Reduced 
Chi-Sqr

26965.04498

4 Adj. R-Square 0.78392
5 Value Standard Error
6

t:e1labt

A 447.86489 29.6705
7 y0 1009.47203 16.44
8 xl -866.63442 12.93244
9 w 59.65233 10.00352

10 wl 50.19759 6.45545
11 wr 6.06341 4.88741
12 A_g 1101.16071 72.50696
13 xc_g -967.2016 1.19323
14 w_g 18.3873 1.29128


